COMMUTATIVE PROPERTY - A
ORDER DOES NOT MATTER

HELPFUL EXAMPLE

VAV
MAKE IT EASIER THE 5 AND 2 ISNT THAT EASIER? 0 + 10 =
USE THE COMMUTATIVE PROPERTY TO HELP YOU ADD.

. 6 +15+ 5 + 4 = 30 2 8 + 5 +12+ 5
3. 13+ 6 + 2 7 = 28 4 11+ 3 + 9 17
5. 10+ 6 + 8 10 = 34 6 4 + 1 + 26 3
712 + 18 + 4 6 = 40 s 2 +13 + 2 6
9. 6 + 6 + 5 8 = 25 1012+ 5 +13 + 9
11.23+ 5 + 5 7 = 40 1210 + 11 + 7 2
13. 4 +12 + 1 19 = 36 14 5 +17 + 4 14
1516 + 12 + 14 + 18 = 60 16 15 + 15 + 7 8
17733+ 8 + 6 27 = 74 1811 + 13 + 12 + 16
19.10 + 18 + 5 +42 = 75 20 22 + 18 + 6 14
21,19+ 7 + 6 27 = 59 225+ 6 + 12 + 12
3. 3 +13+31+13 = 60 22 30 + 17 + 40 5
5. 12 + 18 + 15 + 14 = 59 2 12 + 25 + 11 + 23
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